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! PART A: Vocabulary T
| Directions: Choose the word or phrase (1), (2), (3), oy 2 MRt completes each sentence. #)
‘ Then mark the answer on your answer sheet. ‘ LB

Companies selling products and servig@ to & neumer market generally rely ——-—-—

on advertising to communicate with thSgg targ audiences. 4N
2 ' 3) heavily 4) externally -

1) demographically 2) 1
The move to integrate ommunications reflects a/an

61-

3) establishment 4) outcome ’

1) adaption advocHy ol
Marketers attempt to l’“”i“ @ =mmmmemmammmee=== attribute and the basis for makin&
"

purchase decisions. o
1) recent Wicnt 3) straight 4) flexible p

------- that is having the greatest impact on marketing tsthe

2) expertise 3) dimention 4y medium
- eunnea—m== the entire spectrum of customer’s awareness, Know
e of the brand as well as the company behind it. :
1 tes 2Y encompasses -3) discusses 4) qualifies
~ The marketing strategies of compan ies pursuing religion-based marketing are ba
the religious and the power of religion to attract. ' +
1) appeal 2) outlet 3) effort 4) election
V: ¢ communicating effectively with consumers
than just the tactical use of the trad

ny companies are realizing tha
holders -- more

ication tools.

2) contributes 3involves




71-
72-
73-
74-
75-

ead the following passage and decide which choice (1), (2), (3}, or (ﬁ):
=Y Sﬁﬂm Then mark the correct choice on yuur answer sheet.

Today, most markets are seeking more than just a one-time exchange of
with customers. The (71) ~=---=-=n==mnnx of market-driven companies g8
and sustaining relationships with their customers. Successful com

that creating, communicating, and delivering value to their custo tremely
important. Value is the customer's perception of all of benefighof a pr ctnrsmm

(73) ............. aﬂamst all the costs of dcqmrlng .:mdQ lng l’BEﬂﬁﬁtS can he
functional. expemnnal and/or psychological. Costs ige money paid for the
product or service (74) --------==n=-- other factors su iring information about
the product/service, making the purchase. learnin®h(75) Wae-c---o- . maintaining the

product, and disposing of it.

1) aspect 2) focus
1) coordinate 2) elect
1) that weighed 2) which
1) as also 2) as the 1
1) how to use it 2) how using

) ) m 4) role
ecognize 4) reinforce :
‘eighing 4) weighed e %
as well as 4) and as -
4) use it how

PASSAGE 1:

A puslpst ries to convince resellers they can make a profit on a manufacturerg
product encourage them to order the merchandise and push it through to t
customers. Sometimes manufacturers face resistance from channel members w'
not want to take on an additional product line or brand. In these cases, compar
turn to a promotional pull strategy, spending money on advertising and s <
_promotion efforts directed toward the ultimate consumers. The goal of a
is to create demand among consumers and encourage them to request fhe
retailer. Seei g the consumer demand, retailers will order the p




1

: y it more cost-effective to =48

~with resellers. When the demand outlook for a product is favorabie
‘unique benefits, is superior to competing brands, or is very popu lar am
‘a pull strategy may be appropriate. Companies often use a combinat
pull strategies, with emphasis changing as the product moves throughgi

The best title for this passage is - -
1) Developing Promotional Strategies: Push or Pull
2) Ways to Improve Production
3) The Strategies of Advertising and Promotion
4) The Strategies to Use for Having Higher Benets )? e
77- Choosing a push or pull strategy relies on all of the \ EXCEPT e

1) the funds for advertising

2) the number of resellers available

3) the relations between company and trade

4) the customer’s need for a company”
78- When the channel members don’

COMPANY ===nmmmmmmmmmee !

1) increases its promotional b

e

2) channel members ~
4) favorable channel relationships B
g a firm make a product or service available to customers alﬁ re

e o e

2) stockers 3) resellers 4) wholaale " .I

tional marketers have two choices when they enter new markets. They
either establish a new channel use of distribution or work within an EXistiﬂg';
When international businesses use existing channels, they often redes
distribution channel to increase efficiency. To gain greater Efﬁﬂiﬁﬂcies.iﬁ; ..
Elven Japan redesigned its distribution channel. i

A number of factors must be taken into consideration when desienine

~ distribution. These factors include the nature of the product,

: ition, costs, communication system, control issues, c

able resources. For example, Coca-Cola may spend




fart is a cor national expansion plan ;
out. As Wal-Mart expands into China, it has to tra 500 n
! supercenter it opens. Wal-Mart works with local partners to |
ations to distribute its products in major Chinese cities. '

81~ This Passage is mainly about ;
1) channel relationships 2) marketing challcnges
__3) international planning 4) distribution chann
82-  The international businesses reform the distribution channels to — _
1) train and hire more employs 2) attempt to choose Customers
3) develop their power and proficiency  4) get the mosggrecent iMbrmation better
83- Gaining the ability to show good reaction to changesén ¢ arketlis :
1) full of risks 2) not witiiut (s for companies -
3) a great efficiency 4) a w WagLing less of time and money
84- To form a channel of distribution, Coca-Colafl lnternational business, has to
consider ~--——————.__

1) eight parameters
3) its channel members
85- The word “them” in paragraph 3 refer!
1) resources
3) prime locations

PASSAGE 3:

Management must h
an international m
action before e
marketers rea
evaluated thgi

ategy allows a business to be proactive, or willing to take
tal pressure forces a strategy. Proactive international
t there are profits to be gained in global trade. They may have y
ts and found they have unique advantages for markets around
sinesses find it important to gain economies of scale to be able to
compe ially when international competitors are ready to enter global markets,
ess also can have a reactive strategic approach when it is forced to react to
tal pressure. Many companies without an international focus
themselves facing competitive pressure from international companies. They are forg
to conduct business internationally to maintain market share and cu.

Companies also may find that they have excess inventories that they are y;

- in their home market. They may be forced to look overseas for
'?F'-:c:‘f: - Opportunities. Sometimes companies actually lose their home market. P
| logy has replaced the need for their existing products,
hem to move existing product lines into new in

...
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o pfessmes
Sit 'fﬂr dlsi‘:nbutmg the products
l’_m@d for preserving the company’s resources
‘Gaining economies of scale :
1) makes companies allocate their resources
2) helps companies to focus better on their goals
3) forces a business to analyze the environmental pressure
4) allows businesses to better compete in the internatiop@® marke
89- When there are extra products in a local market, companggs E .
1) face a high environmental pressure
2) must find new chances in international mark
3) have to stock them for future use
4) need to be evaluated and controlled
90- The word “initiate” in paragraph 2 can
1) agree 2) identify

e ——————

4) infer
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